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520 1. RS AU R 75 PR 4a 0 iEAH n
(1) (+5)+ (+3) (2) (=5)*+ (-3)
20 20 S AR A OB B I ) A5 PR (B9 25 /N4 on)
(1) (+5)+ (=3) (2) (-5)+ (+3)
3030 HOMREIATLE 0
(1) (+5)+ (=5) (2) (+5)+ (-5)
Hrik:
1. HT 5=+5=, 3=+3
R 543=(+5)+ (+3), 5-3=(+5)~(+3) =(+5)+ (-3)
3-5=(+3)~(+ 5) =(+3)+ (-5)= 2
FRNFAEET) 3-5 B T Rt e T
2. R/NFIFRORTIR, R R R E R ? SRR N I
TRAGY (+5)+ (+3) =5+3, (+5)+ (-3)=5-3, (+3)+ (-5)= 3-5 Wl 1 AN E )
X HRBATP TN ER AT 543, 5-3, 3-5 FIP M AUCRER
5+3 Z+5 H5+3 [, 5-3 2+5 53 R, 3-5 2+3 55 AL, g 5+3, 5-3, 35 %
BRAMET “+7 S,
FUN(-S)+(3) A T IS iS5 1li-5+3, (-5)+(-3) &M 7 5 s k-5-3
i 1 40 5105 X5 as N 5 il A
(1) EHHE)+ED ()= (5) —(#3) = D+ (76)
fit: (1) (-5)+(F3)+ (-7)= —5+3-7 (2) = (-5) = (+3) = (-7)+ (-6)= 5- 3+9-6
B 2. 0 RFIS BRI HIA, A B S5EES () -5+6-7  (2) 5+3-7-10
fift: (1) —5+6-7= (=5)+H+6) + (-7) (2) 5~ 3+9-6= (+5) + (-3) + (+9)+ (-6)
Ao L, A B IR T S, FE HART DU oA w1 0 A, AR s
WIS IR, X b )RR ER vk ) IE R
L HEEONE R IB
IERNR A /N EsEd T, Bl 18434-8+6=18-8+34+6=10+40=50
Z BT CAREIXFEARGR D A I A et 5 45 Gt
LA atb=b+a LA atbtctd=(atb)+(c+d)= (a+ c)+(b+d)= b+(a+ c +d)%F
Bl 1. HE (2200 + (43) + (+5) +H-7)
fift: J5=-20+3+5-7=-20-7+3+5=-27+8=-19
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CHE(-12) - (D) + (-8) - —
2. T (=12)—( 5)+( 8) 10

W1 fike—124+08- L opogpi2 T _ 5 1P
5 10 10 10 2 2
6 7 7 6 207 12 39

R2: FR=—124—>—8——=—12—8—— o= = =2 CRINfiRIL 1)
5 10 10 5 10 10 2

o 2 1 1 1
] 3. A ( 3)+( 6) ( 4) >

o2 1 1 1 8 2 3 6 -8-243-6 -13 13
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